GENERAL NOTES:

NOTES:
1. STORM PANEL SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN ”

DYNABOLT AND CRETE-FLEX SS4, INTO THE CONCRETE BLOCK UNIT SHALL BE 1 1/47

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE,

FOR A WIND SPEED AS REQUIRED BY THE JURISDICTION WHERE THESE SHUTTERS WILL BE INSTALLED AND B.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT.
FOR A DIRECTIONALITY FACTOR Kd=0.85. USING ASCE 7-10 FOR INSTALLATIONS UNDER 2017 FBC AND SHALL UNIT. NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4” 8-20 SCREWS USED SHALL BE 1 1/2" LONG
NOT EXCEED THE MAXIMUM (A.S.D.) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 4 THRU 9. MINIMUM SHOULD STUCCO EXIST, AND 17 MINIMUM FOR WALLS WITH NO STUCCO.
Wx»ﬂmomm mwmmwmmmmwh%mmo ﬂw% <>m mooozw_ma%ozz ﬂ_r_“w;mw»%mmwwa ,h_w_w___u.mnmm wﬂwm,mﬁm% mn_mﬁ wmm_mmu& ° B.3) MINIMUM EMBEDMENT OF 1/4” x 3/4" ALL POINTS SOLID-SET ANCHORS SHALL BE 7/8" INTO THE CONCRETE
- : BLOCK. NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4” $—20 S.S. MACHINE SCREW USED SHALL BE
TO COMPARE THESE W/ MAX. (A.S.D) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 4 THRU 9. 1/1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1” MINIMUM FOR WALLS WITH NO Shioto
IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.E.D. AS TESTED WERE NOT OVER STRESSED, A 33% B.4) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS
INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. A DURATION FACTOR CD=1.60 WAS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS
USED FOR VERIFICATION OF FASTENERS IN WOOD. INDICATED ON NOTES IN B.1) & B.2) ABOVE.
STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1626 :
OF THE ABOVE MENTIONED CODE AS PER AMERICAN TEST LAB REPORTS # 042501-00 AND § 61501 08, oy (©) hu_mqm»mowcwﬂw_.r BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S
PROTOCOLS TAS-201, TAS—202 AND TAS—203. :
2. ALL STEEL SHEET METAL PANELS SHALL HAVE STRUCTURAL QUALITY ASTM A653 SQ, GRADE 40, WITH G-90 GALVANIZED 7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS 1 THRU 8 (SHEET
STEEL DESIGNATION & Fy= 52.3 ksi. (AFTER ROLLED) 2 & 3 OF 9) EXCEPT THAT HEADERS 2, 3 & 4 SHALL NOT BE USED.
3. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063-T6 ALLOY & TEMPER UNLESS OTHERWISE NOTED. 8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS
T0 .
4. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AISI SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER (<oo_wm mﬂﬂbm:mmﬁmoo_zmﬂw%m PROPER, ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR
DIN 50018 W/ SO ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH & SHALL COMPLY W/ FLORIDA BUILDING CODE :
SECTION 2411.3.3.4. 8. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS
5. BOLTS TO BE ASTM A-307 GALVANIZED STEEL, OR AISI 304 SERIES STAINLESS STEEL, WITH 36 ksi MINIMUM YIELD CNGpg, WTH THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL
STRENGTH. :
. 10. STORM PANEL INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING
6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED). REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.
(A) TO EXISTING POURED CONCRETE (f'c=3 ksi):
— 1/47 @ TAPCONS & MAXI-SET TAPCONS AS MANUFACTURED BY I.T.W./BUILDEX. 11. (o) THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE
— 1/4” ¢ CRETE-FLEX SS4 ANCHORS AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS. INFORMATION FOR A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.
= 1/4" ¢ x 7/8" CALK—IN ANCHORS, 1/4"¢ ELCO male & female "PANELMATE” OR 1/4” ¢ ELCO male
"PANELMATE_PLUS" AS MANUFACTURED BY POWER FASTENERS, INC. AND ELCO CONSTRUCTION PRODUCTS, (b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS
RESPECTIVELY. PRODUCT BASED ON THIS P.E.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETALED ON THIS
= 1/4" ¢ x 3/4" ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR’S RESPONSIBILITY.

& SPECIALTY COMPANY.
(c) THIS PRODUCT EVALUATION DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.

NOTES:
A1) MINIMUM EMBEDMENT INTO POURED CONCRETE OF TAPCON ANCHOR OR CRETE-FLEX SS4 ANCHORS IS 1 3/4", (d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL
FOR ELCO PANELMATES IS 2, FOR ELCO male "PANELMATE PLUS" IS 2”. BECOME THE ENGINEER OF RECORD (E.0.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER
USE OF THE P.E.D. ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.E.D. ENGINEER, SHALL
A.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. NO EMBEDMENT INTO SUBMIT TO THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.
STUCCO SHALL BE PERMITTED. 1/4” ¢-20 SCREWS USED SHALL BE 1 1/2” LONG MINIMUM SHOULD STUCCO
EXIST, AND 17 MINIMUM FOR WALLS WITH NO STUCCO. (e) THIS P.ED. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD
THAT PREPARED 1T,
A.3) MINIMUM EMBEDMENT OF 1/4" x 3/4” ALL POINTS SOLID-SET ANCHORS SHALL BE 7/8" INTO THE POURED
CONCRETE. NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4” 8—20 S.S. MACHINE SCREW USED SHALL 12. SHUTTER ~ MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT STORM PANEL IN ACCORDANCE
BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 17 MINIMUM FOR WALLS WITH NO STUCCO. WITH SECTION 1709.9.3 OF FLORIDA BUILDING CODE. ONE LABEL SHALL BE PLACED FOR EVERY OPENING. LABELING TO

COMPLY WITH SECTION 1709.9.2 OF THE FLORIDA BUILDING CODE.

A.4) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR
FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, ANCHORAGE

SHALL BE AS INDICATED ON NOTES A.1) & A.2) ABOVE.

(B) TO EXISTING CONCRETE BLOCK WALL (ASTM C—90):

~ 1/4” ¢ TAPCONS & MAXI-SET TAPCONS AS MANUFACTURED BY LT.W./BUILDEX.

— 1/4” ¢ CRETE-FLEX SS4 ANCHORS AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS.

- 1/4" ¢ x 7/8” CALK—IN ANCHORS OR 1/4” ¢ ELCO male & female "PANELMATE” OR

— 1/4" 9 ELCO male "PANELMATE PLUS" AS MANUFACTURED BY POWER FASTENERS, INC.
AND ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY.

- 3/8" ¢ RED HEAD DYNABOLT SLEEVE ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX.

= 1/4” 8 x 3/4” ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT
& SPECIALTY COMPANY.

THIS DRAWING SHALL ONLY BE USED TO
OBTAIN PERMITS IN THE STATE OF FLORIDA

il A

Yery

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

©2017 TILTECO, INC. 0.030" THICK GALVANIZED BERTHA STEEL Le
STORM PANEL (2.257 DEEP) DRAWN BY:

JuEEE

'y

™~
X ___._moo;;./ EASTERN METAL SUPPLY, INC | 7727

4268 WEST ROADS DRIVE

q._.—_u._ku‘ TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407 17-099
6355 AW. 36th,_St, Ste. 305, VIRGINK GARDENS, . 3316 . 3 -
e T 30 o Gumes 1| PHONE: (561)533-6061, FAX: (561)588—4780
E5-0006719 FEV. WO DESCRIPTION DATE | Rev. te DESCRPTION DATE DRAWING No
WALTER A. TILLIT Jr. P.E. o
FLORIDA Lic. # 44167 L Ll T T 2 SHEET 1 OF 9




15.119" (TOTAL WIDTH) 9.118" (TOTAL WIDTH)

12.000" (EFFECTIVE WIDTH)

ﬁ 6.000" (EFFECTIVE WIDTH) ‘ .
_ B i aonE 7 M ; _ o) 45 APrUGABLE ] P [~ CONCRETE ANCHORS (SEE SCHEDULE)———— ..lw oo
1.500" 4.473" 1.500" 4.473% 1.500" , 1.500" 4.473" 1.500" 7 3 P 5 3
‘ | , o= | . | T eI
# \MV /‘ I} _ | _ _ _\ /_7 k 1% | T T ] T
| | ! =
# _ N _ i |
s | "o_
.030" THICK R’ % 030" THICK EIIES A A
GALVANIZED = 8 GALVANIZED =8 & A y
o B Y
| [
! I O e, o 1 | | || BOLTED PANELS w/
| ™ | 1.1 =1 | || 1/4%-20 x 1/2"
| . ﬁ . ‘ . 1 | S S M S W
2.125 3.875 2.125 7/8" X 3/32° WING
NUTS © OVERLAPS
PANEL & MIDSPAN.
SCALE : 3/8" = 1~
",.w 3.000" M o A “q
& . lax. & W L4
i N\/ A A
-
Q o
! I 8 [ = @] = © o | |
= H 1
. 5 ~ 5 ,_ E
88 L I §x.1_ L CONCRETE ANcHORS (SEE mnxmms..&fr; _Yu , laax.
K8 B | P 1" MIN. 7% MIN.
s 3 ;
g 8 STORM PANEL TYPICAL ELEVATION
k ~ N T S
7 | , 1/4" Max. GAP 1/4" Max. GAP
; VZW i @ 1
SCALE : 3/8" = 1" E W
: N T. S
380" 3
. s .093
2185 = lvﬁv g 1/4" @ 304 SERIES
- 2 x % S. S. STUD RWVETED TO
YIS, 3.25 Me; la_ﬁ, : INGLE O SPACINGS
3 R m SHOWN ON SECTIONS.
y .
) [}
[ 090" T+ o g
| N

SCALE : 3/8" = 17

Tamu. - -
.094” SCALE : 3/8" = 1
I~ i
b~
*
]
4 — 7 !
u 1 g £.625" 7
__.N i%‘ m m .957° ="
" L
—

t = Min. .085"
(11) KEY HOLE WASHER

3105-H154 Alum. ALLOY

!

.Qmuw._ -

| ~T875" ﬁ Oﬁﬂsﬁqw ' W&G& SCALE : 3/8" = 17
.050” OR 060" i =
4_|1.%u. f% I...V \NUENg L D=
DETAIL 1: smwp w/ i casT zine OPTION 1 OPTION 2 % b FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
NICKEL PLATED WING NUT Y% ©2017 TILTECO, INC. 0.030” THICK GALVANIZED BERTHA STEEL Le.
(10) KEY HOLE AT PANEL 3 STORM PANEL (2.25” DEEP) DA BY:
=0
- 07/26/17
1% \ liLIECO e / EASTERN METAL SUPPLY, INC | “Z¥
QO >\\ ho 2 m 2 Nﬂm- - TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEAGH, FL 35407
- ol 00 o iy e PHONE: (561)533-6061, FAX: (561)588—4780 17-099
Hm.Mmlnnﬁmwﬂm REV. MO GESCRIPFTION DATE | eV, e DESCRPTION DATE DRAWING No
WALTER A. TILLIT Jr. P.E. :
FLORIDA Liee ¢ 43167 L e LaEAE B SHEET 14 OF 9




Cont. CONCRETE ANCHORS CONCRETE ANCHORS
CONCRETE ANCHORS m%_mﬂnmwﬂmmm&mm%m (SEE SCHEDULE) (SEE SCHEDULE)
(SEE SCHEDULE) ﬂ | | 7 V74
1.000"
, — — A Cont. — — A Cont
N \ e . =
T — Ry moh_i 250" — — S _ | :s00° | —F  |s00
- Max. J i
[ " 3 A POURED _ M | ,« T ._J T s
5 T
: i ! I : , | I »
| [ ] CONCRETE | | POURED 0 83 POURED : | ; 25b
POURED £D : REQUIRED) ™\ £ —® CoMEE i | [ ‘= CONCRETE ED. | Lol Mex
CONCRETE T | | H | 2 I/ _ | HEHER I/ | |
REQUIRED | | _ !
|/ _ | | I@hﬁa«. W 7* “ _ W | V _
| : . ;
ﬁ | _ | | T m m
[ (se€ screpuie) || [ | (see scrEpULE) | o (SEE_SCHEDULE) ! | [ (SEE_SCHEDULE) _
™ ForR MINMOM \ [ For mmmum L Q| FOR MINIMUM FOR MNIMUM oo ]
SEPARATION TO | —) | SEPARATION 70 | _ 3 SEPARATION TO _ | , SEPARATION TO [ Y
| EXISTING GLASS | ExisTiNG GLASS 8 EXISTING GLASS ” EXISTING GLASS Lo 3
| | || : _ | :
- |>><. : : [ Y & »< : »4 _ _ B ><| : >< : : 3
f T “ 3 _ VT _ " v [ _ _ is v ] b
Q m R ﬁ [ | ! Ly
| || i ,V b 2 | = ! | i
Q
? m 9 | i 7 m k i W | =
W = nNu | m | =2 | m
/47 —20 x 1/2= i _ % T\A.@ =20 x 1/2% | i Y /479 -20 x 1/22 _ _ ] | 1/4% —20 x ﬂ\m...l\\ﬁ i | _ nNu
S.SMS. W/7/87%3/32" X S.SMS. W/7/8%3/32"] ! iy SSMS W/ 7/8%3/32"| by SSMS WS 7/8'%3/32" Lo ]
\WING NUT © EVERY | | x WING NUT @ EVERY | || g WING NUT @ Every | [ o | WING NUT © EVERY I =
_os,..min & MIDSPAN . S loverLaP @ miDsPAN Lo g OVERLAP © MIDSPAN ﬂ OVERLAP © MIDSPAN bl o
“ ». I [ g _ ? | [ . »‘ | »‘ | £ _, >ﬁ | »,, L 2
I y _ % o I ( I I 2 ﬁ Y ¥ T W_ [ )7 ¥ T T P
| | x
2| AnisHED waur | | , - | \ . 5
i | << | » W | f
7 [ | stueco) ] g 14" 920 x /47| | _lmv =
. ﬁ W f _ | = BOLTS W/ 7/8" x | N
| | _ _ g , L 1/4" 820 x _ b 3/32" WING NUT @| ,
| | 3/4" BOLTS W/ _ | ] % L
i 7/8" x 3/32" _ * 2 i
| [ 7 G NI g 1/4” 8-20 x 3/4" | — [
: 2 o POURED BoLTs w/ 7/8" | ;
POURED CONCRETE - | | _
| [ ED. 3/32" WING NUT @ [
|\ ED. CONCRETE OR CONCRETE EPD. A | | I\ ED. Lo
POURED _ _ OR CONCRETE BLOCK WALL - - POURED n
CONCRETE I BLOCK WALL REQUIRED | k | CONCRETE ,
OR CONCRETE | | REQUIRED .M.M.Mt | OR CONCRETE e
BLOCK WALL . m_w_ _.mmmz | BLOCK WALL ="
. | = — I
REQUIRED — — -4 _ | — — — = — - Max. o REGUIRED i
|
\ hﬁ | | \ | \ 1/4" 6-20x1/2" S.SMS.
W/ NUT @ 12" 0. C.
CONCRETE ANCHORS LONCREIE ANCHORS [ (6) cont CONGRETE ANCHORS | CONCRETE ANCHGRS 4
(SEE SCHEDULE) Cont. (SEE SCHEDULE) (SEE SCHEDULE) L (SEE SCHEDULE) Cont.

BUILD OUT INSTALLATION
SECTION 4

BUILD OUT INSTALLATION
SECTION 3

WALL MOUNTING INSTALLATION
SECTION 2

SCALE : 3/8" = 1" SCALE : 3/8" = 1~ SCALE : 3/8" = 1~

—®

1/4” 8-20 x
374" BOLTS W/

e e e

—Max. PANEL LENGTH (SEE SCHEDULE)—

7/8" x 3/32"
ED. , WING NUT @
A e g e E. D. = EDGE DISTANCE
1 | (SEE SCHEDULE ON
na%mml\ | | [ SHEET 5 ,6 & 7 OF 9)
CONCRETE = _ |
OR CONCRETE ]
BLOCK WALL 1.000" | | 3
REQUIRED 5 3 .
w FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
L) 2
Cont. 3 ©2017 TILTECO, INC. 0.030" THICK GALVANIZED BERTHA STEEL LC.
2 STORM PANEL (2.25" DEEF) DRAWN BY:
SECTION @ STUD =
NOTE FOR COMBINATION OF SECTIONS : E jl 07/26/17
w EASTERN METAL SUPPLY, INC DATE:
WALL MOUNTING INSTALLATION WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE —F m n o INC. / CIEBWEST BN TR ’ ATE:
.WWIQN.\QZ N SCALE : 3/8" = 1" COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407
: = 6157 uﬁﬁ@;«uw&mwﬁ%w.<ﬁ_@«%m el PHONE: (561)533-6061, FAX: (561)588-4780 17-099
NOTE : DETAIL OF SECTION @ m#e VALID ALSO m.om« » s\%wmm.mmhuawmmﬂwﬁ e v o prm—— o T o premms— S DRAWING No
WALL MOUNTING INSTALLATION — SECTION 2 (TOP i | i 1 0D 15-048 | 07/26/17| 3
FLORIDA Lic. # 44167 - - SHEET 2 OF 9




CONCRETE ANCHORS

(SEE mn:mucﬁ/

POURED
CONCRETE

REQUIRED
/ ED.

Cont.

1/4" 6-20 S. 5. MACHINE
BOLT W/ NUT & WASHER
e 127 0. ¢

17 Min.

250"

_._ﬁ HF Max.

CONCRETE ANCHORS
(SEE SCHEDULE)

POURED CONCRETE

REQUIRED Bl
|/ ¥

pem

|

.250"

ALL POINT SOLID —SET OR
CALK—IN OR ELCO male/female
PANELMATE OR male PANELMATE PLUS

Aw 1/4°8—20 SIDEWALK BOLT OR ©
/1/4°9—20 TRUSSHEAD BOLT *
(SEE SCHEDULE FOR SPACING)

POURED
CONCRETE

OR CONCRETE
BLOCK WALL

REQUIRED
|/ ED.

_ ﬁl@ Cont.

CONCRETE ANCHORS £.D.
(SEE SCHEDULE)
POURED CONCRETE m
REQUIRED |/. I |
1" | [p="
—\ SOt i1 4
] =S T (i
| ALTERNATE
LEG LOCATION

| 174" 6=20 x
3747 BOLTS W/

(SEE SCHEDULE) FOR MINIMUM
SEPARATION TO EXISTING GLASS ]

A
>¢

A
1/4" 6-20 x 1/2"

S.SMS. W/ 7/8" x 3/32"

WING NUT @ EVERY
OVERLAP © MIDSFPAN

A
N

_

|

|
——
1/4” \l_.mo x 1/2°
S.S.MS. W/ 7/8" x 3/32"

WING NUT @ EVERY
OVERLAP © MIDSPAN

L » |

|
| 7/87 x 3/32

WING NUT @

1/4% 9-20 x 1/2° ——_ |t
SSMS. W/ 7/8" x 3/32"

WING NUT © EVERY
OVERLAP @ MIDSPAN

A\
1/4” -20 x 3/47
BOLTS W/ 7/8° x
3/32" WING NUT

@ 127 0. C.

POURED i

CONCRETE
OR CONCRETE
BLOCK WALL

REQUIRED

CONCRETE ANCHORS
(SEE SCHEDULE)

Max. PANEL LENGTH (SEE SCHEDULE)

u \J

(SFE SCHEDULE) |
FOR MINIMUM
SEPARATION 70
EXISTING GLASS

A
><
¥

(SEE SCHEDULE) _||
FOR MINIMUM

Max. PANEL LENGTH (SEE SCHEDULE)

SEPARATION TO
EXISTING GLASS

1/4" 9-20 x
| 3/47 BOLTS W/
| 7/8" x 3/32

—

Mox. PANEL LENGTH (SEE SCHEDULE)

LQF

Mﬁ”_ " Min—

17 Min: h

1/4" 8—20 S. S. MACHINE
BOLT W/ NUT & WASHER
@ 127 0. C.

Cont.

BUILD OUT INSTALLATION

— SECTION 5

SCALE : 3/8" = 1~

| Cont.
!
1
1

CONCRETE ANCHORS \

(SEE SCHEDULE)

POURED CONCRETE l\
REQUIRED

CEILING & FLOOR MOUNTING

INSTALLATION — SECTION 6

SCALE : 3/8" = 1"

E. D. = EDGE DISTANCE
(SEE SCHEDULE ON
SHEET 5, 6 & 7 OF 9)

WING NUT @
12* 0. C.

]

I

] @94 Q Cont.
_ i

POURED no:nxﬂﬂ.\
REQUIRED

I}
—7"—H |

CONCRETE ANCHORS -~ 1|!
(SEE SCHEDULE) H

L:m@_,iﬁ\m
H LEC LOCATION REQUIRED H

CEILING & FLOOR MOUNTING

INSTALLATION — SECTION 7

SCALE : 3/8" =

NOTE FOR COMBINATION OF SECTIONS :

WALL /FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

1"

(SEE SCHEDULE) |

i

FOR MINIMUM _
SEPARATION TO
EXISTING GLASS |

T
1/4" 8-20 x 1/2"
S.S.MS. W/ 7/8" x 3/32"
WING NUT @ EVERY
OVERLAP © MIDSPAN

| A

; \J

|
|

POURED H

CONCRETE |
OR CONCRETE _
BLOCK WALL

Il
il
i

Mox. PANEL LENGTH (SEE SCHEDULE)

ALL POINT SOLID —SET OR \ ]
CALK—IN OR ELCO male/female
PANELMATE OR male PANELMATE PLUS

@ 1/4°6—20 SIDEWALK BOLT OR ©
/1,/4"9—20 TRUSSHEAD BOLT *
(SEE SCHEDULE FOR SPACING)

WALL MOUNTING INSTALLATION (D. M.)

— SECTION 8

*
SIDE WALK BOLTS ARE 3/4"0x3/32"THICK
HEAD MACHINE SCREW W/LENGTH

AS PER NOTES A2 & B.2 (SHEET 1)

*

TRUSS HEAD BOLTS ARE 1/2%8x1/8"THICK
HEAD MACHINE SCREW W/LENGTH
AS PER NOTES A2 & B.2 (SHEET 1)

SCALE : 3/8" = 1"

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

EB-0006719

FLORIDA Lic. # 44167

WALTER A. TILLIT Jr. P.E.

REV. NO DESCRIFTION DATE REV, No

©2017 TILTECO, INC. 0.030" THICK GALVANIZED BERTHA STEEL LC
STORM PANEL NM.MU.: DWW_UL DRAWN BY:
07/26/17

\ liLlEco ... / EASTERN METAL SUPPLY, INC | “2%

. 4268 WEST ROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407

6355 umﬂr%mﬁu%&mwww"www&%&&Q@@Wﬂmh&&am PHONE: (561)533-6061, FAX: (561)588-4780 17-099
DRAWING No

1 OLD 15-048 07/25/17 3

2 4

SHEET 3 OF 9




i\

_.
. waries 31
POURED CONCRETE Max.
OR
CONCRETE BLOCK WALL
REQUIRED,
POURED CONCRETE //
R
CONCRETE BLOCK WALL
CUT PANEL i \I.WmoSmmo
CONCRETE ANCHORS L
@ 12" 0. C ™
>
| B 2
e MLL s
2 g l”M|”HH\.;«.«m|_|I\
2" x 47 x 1257 = JW
3105-H14 OR 6063—T6 ALLOY, :
Cont. Alum. ANGLE w
, 0
A ™
il T e

CASE A (Plan)

SCALE: 1/4" = 1"

END CLOSURES

1/4" o BOLT
6 24" 0. ¢
W/ JACKNUT

CASE B Qu\mi

SCALE: 1,/4" =

MIN.
1.50°%

DETAILS

(REQ'D)

2" x 3" x .093" 3105 H-14
6063—T6 ALLOY Cont. Alum. ANGLE

POURED CONCRETE
/ OR CONCRETE BLOCK
WALL REQUIRED

!

WITH ANCHORS @ 12”7 0. C.

1.000"

y!

BUILD OUT
DISTANCE

X=

Wi

POURED CONCRETE
OR
\\ CONCRETE BLOCK WALL

REQUIRED

——

47 x 4" x 0727
3105-H14 OR 6063-T6 ALLOY
Cont. Alum. ANGLE

POURED CONCRETE

oR
CONCRETE BLOCK WALL
RECUIRED |/
2.500" Min--
CONCRETE ANCHORS ﬁr . 2.500"
@120 ¢ T T~ L Min.
n mn
1.eop ALTERNATE LEG LOCATION

2" x 2" x .q&..ﬁ\\
2" x 57 x .055” Cont.
Alum, ANGLE OR

.080" 3105-H154 SHEET
METAL Alum. BENT PLATE

CASE C (Plan)

SCALE: 1/4" = 1"

MAXIMUM A.S.D. DESIGN PRESSURE RATING (p.s.f.) AND

CORRESPONDING

MAXIMUM

PANEL LENGTH 'L” SCHEDULE

MAXIMUM APPLICABLE TO
,om\wwwwm..wmm@vn M .umzwm__ %mamwm MINIMUM SEPARATION SECTIONS # &
; TO GLASS ANY COMBINATION
(p.s.f.) (SEE SECTIONS) OF THEM
+66.0, —76.0 7—8" OR LESS 37 1,2,3,45 & 8
+60.0, —70.0 >7'-6" 70 8-6" 3" 1,2,3,4,5 & 8
+66.0, —76.0 7'—6" OR LESS 3 374" 6 & 7
+60.0, —70.0 >7'-6" T0 8'-6" 3 3/4" 6 & 7

CASE D (Plan)

SCALE: 1/4" = 17

SCALE:

L .mt\m\m\&a\u

§ w_w- v ; h.\tv

W NSER A Ty

CASE E (Plaghe 2=
lwq o iL.h.w:.‘M.. ...‘. o =

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

©2017 TILTECO, INC.

0.030" THICK GALVANIZED BERTHA STEFL

Le.
STORM PANEL (2.25" DEEP) DRAWN BY:
\ liLleco ... / EASTERN METAL SUPPLY, INC | 7577
2 4268 WEST ROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407 17-099
6355 N.W. J6ih. Si, Sie. 305, VIRGINIA GARDENS, FI. 33166 5 v 2 L =
Fhons + (30508711530 . Fax ¢ (30587121531 PHONE: (561)533-6061, FAX: (561)588—4780
£8-0006719 REv. WO DESCRIPTION DATE | eV, Mo DESCRPTION DATE DRAWING No
WALTER A TILLIT Jr. P.E. = =
FLORIDA Lic. # 44167 L oD TS, L0, . SHEET 4 OF 9




MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2% »*

sk oo v e 220 e oS Foves e v | S | o
RATING (p.s.f.) |TAPCONS/MAXI-SET TAFCONS RED HD SLEEVE CRETE-FLEX SS4 MALE/FEMALE PANELMATE MALE PANELMETE PLUS CALK—N SOLID-SET ANY COMBINATION LENGTH "L” (ft)
TO CONCRETE| TO BLOCK | TD CONCRETE| T0 BLOCK |TO CONCRETE| To BLock | 1o conerete| 70 siock |10 cowcrere| 7o Block | To cowcrere| 1o ock | 1o CONCRETE| TO BLOCK OF THEM
12" N/A N/A NAA 12" N/A 12" N/A 12" N/A 127 N/A N/A N/A 1 (TOP)
127 7" N/A 12* 12° 12" 127 12* 127 1" 12- 11" 12" 12" 1 (BOTTOM)
12" N/A N/A N/A 12" NAA 12* N/A 12" NAA 127 N/A 12" i2" 2 (Tor)
127 7" N/A 12" 12° 12 12° 12* 127 177 12 11" N/A NAA 2 (BOTTOM)
12° N/A N/A NAA 12* N/A 12" N/A 127 N/A 12° N/A N/A N/A 3 (ToP)
12” 7" N/A 127 12- 12" 127 127 12" 11" 127 11" N/A N/A 3 (BOTTOM)
+60.0, —61.5 12" N/A N/A NAA 12" N/A 12" N/A 12" N/A 127 N/A N/A NAA 4 (TOP) 6'-0" OR LESS
127 7" N/A 12" 12" 12~ 12* 12" 12" 1" 127 " N/A N/A 4 (BOTTOM)
12° N/A N/A N/A 12 N/A 12 N/A 127 N/A 127 N/A N/A N/A 5 (TOP)
12* 7" N/A 12" 12" 12" 12* 12" 12" 10" 12" 10" N/A N/A 5 (BOTTOM)
12" N/A NAA N/A 127 N/A 12" N/A 12~ N/A 12" N/A NA NAA 6 (TOP)
127 N/A N/A N/A iz" N/A 127 N/A 127 N/A 127 N/A N/A N/A 6 (BOTTOM)
12" N/A N/A N/A 12" N/A 12" N/A 12" N/A 11" N/A N/A NAA 7 (TORP/BOTTOM)
N/A N/A N/A N/A N/A N/A 12" 12" 12~ 127 12" 1" BUI 12" 8 Q%\moq@ |
—— — —_— —r—
rreren MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/27 »
>M.mmm acme% LT.W. BUILDEX £1.00 CONSTRUCTION PRODUCTS POWER FASTENERS ALL POINTS mmwpzwrw w P
RATING (p.s.f.) |TAPCONS/MAXI-SET TAPCONS RED HD SLEEVE CRETE-FLEX 554 MALE/FEMALE PANELMATE MALE PANELMETE PLUS CALK-IN SOUD-SET ANY COMBINATION | LENGTH L° ()
TO CONCRETE| TO BLOCK 70 CONCRETE| TO BLOCK | TO CONCRETE| TO BLOCK TO CONCRETE| TO BLOCK TO CONCRETE| TO BLOCK TO CONCRETE| TO BLOCK TO CONCRETE| TO BLOCK OF THEM
12" N/A NAA NAA 127 N/A 12" N/A 127 N/A 12" N/A N/A N/A 1 (TorP)
2" 6" N/A 12* 1z° 12* 12" 17" 12" 10" 12° 9" 12" - 1 (BOTTOM)
127 N/A N/A N/A 12" N/A 12 N/A 12" N/A 12° NAA 12" o 2 (ToP)
127 6" N/A 2 12" 12" 12" 11" 127 10" 127 9" N/A N/A 2 (BOTTOM)
12" N/A NAA NAA 12° N/A 12" NAA 1z" N/A 127 N/A N/A NAA 3 (ToP)
12" 6" N/A 12" 127 12° 12° 1" 12" 1w 12" g~ NAA N/A 3 (BOTTOM)
+66.0, —72.0 12* NAA N/A N/A 12" N/A 127 N/A 12° N/A 127 N/A N/A N/A 4 (ToP) 6'-0" OR LESS
12* 6" N/A 12" 12= 12" 12" 17" 127 10" 127 9" N/A N/A 4 (BOTTOM)
12" N/A N/A N/A 12° N/A 12" NAA 12" N/A 127 N/A NAA N/A 5 (ToP)
127 4 N/A 12" 12" 9" 12* 8" 12" 7" 12~ 6" N/A NAA 5 (BOTTOM)
12" N/A N/A N/A 12% N/A 12" NAA 727 N/A 12" N/A NAA N/A 6 (Tor)
12* N/A N/A N/A 12~ NAA 12* N/A 12" N/A 1" N/A N/A N/A & (BOTTOM)
10" N/A N/A N/A 12" NAA 127 N/A i2° N/A g9 N/A N/A NAA 7 (TORP/BOTTOM)
N/A N/A N/A N/A N/A N/A 12" 11" 12" 6" 127 9" 12" 127 8 (TOP/BOTTOM)

] MAYMUM ANCHORS SPACNG FOR E D, = 3 172" o= . ]
FWMMM M%Wz LT.W. BULDEX ELCO CONSTRUCTION PRODUCTS POWER FASTENERS ALL POINTS mmmﬁpw H R P
RATING (p.s.f,) |PAPCONS/MAXi-SET TAPCONS RED HD SLEEVE CRETE—FLEX S54 MALE/FEMALE PANELMATE MALE PANELMETE PLUS CALK—IN SOLID-SET ANY COMBINATION | LENGTH L (1)

TO CONCRETE| TO BLOCK TO CONCREIE| TO BLOCK |TO CONCRETE| TO BLOCK TO CONCRETE| 7O BLOCK TO CONCRETE| TO BLOCK 7O CONCRETE| TO BLOCK TO CONCRETE| TO BLOCK OF THEM
12" N/A N/A NAA 12° N/A 12" N/A 12" N/A 127 N/A N/A NAA 1 (ToP)
12° 6" N/A 12" 127 12" 12" 10° 127 8" 12" g" 12* 12" 1 (BOTTOM)
12° NAA N/AA NA 12" N/A 12" N/A 127 NAA 127 N/AA 12” 12" 2 (ToP)
12" & NAA iz" 12" 12" 12" 10° 127 9" 127 9" N/A N/A 2 (BOTTOM)
12" N/A N/A N/A 12" N/A 12" N/A 12" N/A 12 N/A N/A NAA 3 (TOP)
12" 6" N/A 12" 12* 127 12* 10" 12" 9" 12~ 9 N/A N/A 3 (BOTTOM)

+60.0, —61.5 12" N/A NAA N/A 12* N/A 12" N/A 12" N/A 12" N/A N/A NAA 4 (ToP) >6'-0" TO 7'-6"]

127 6" N/A 12* 12" 12" 12" 10" 127 9" 12" 9" NAA N 4 (BOTTOM)
127 N/A N/A N/A 12" N/A 127 N/A 127 N/A 127 NAA N/A N/A 5 (ToP)
12* 47 N/A 11" 12° 8" 12" 7" 12" 5" 127 6" N/A N/A 5 (BOTTOM)
127 N/A N/A NAA 12" N/A 12’ N/A 12" N/A 12" N/A N/A NAA 6 (TOP)
1" N/AA N/A N/A 12" N/A 12 N/A 12" N/A 12° N/A N/A N/A 6 (BOTTOM)
9" NAA N/A N/A 12* N/A 12 N/A 12" N/A 12* N/A N/A NAA 7 (TOP/BOTTOM)
N/A N/A N/A N/A N/A N/A 12" 10" 12" 6" 12* 9" 12* 127 8 (TOP/BOTTOM)

MAXIMUM A.S.D. DESIGN PRESSURE RATING (p.s.f.) AND

CORRESPONDING MAXIMUM ANCHOR SPACING SCHEDULE FOR

INSTALIATIONS INTO CONCRETE AND CONCRETE BLOCK STRUCTURES *

** MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1,/2" EDGE DISTANCE.
FOR E. D. LESS THAN 3 1/2" REDUCE ANCHOR SPACING BY
MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING
FACTORS. (NOTE : Min. E. D. FOR CALK—
FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING OBTAINED
USING FACTOR SHALL NOT BE LESS THAN MINIMUM SPACING
INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND,

IN ANCHORS IS 2 1/2").

*SEE NOTES ON SHEET 8 & 9 OF 9
FOR ANCHOR TYPES & SPACING FOR
INSTALLATIONS INTO WOQD FRAME BUILDINGS.

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

FACTOR
ACTUAL E. D. TAPCON/
CRETE—FLEX S54/| CALK—IN SOLID—-SET |RED HD. SLEEVE
PANEI MATES
3 = A .78 1.00
2" A2 =4 .50 s 1.00
2" = - - 0.88
i1/2” .35 - = —
ANCHORS [EGEND
ANCHOR
ANCHORS MIN.
TYPE SPACING E. D. = EDGE DISTANCE
TAPCON,/ L
PANELMATES ’
CALK—IN 2.5%
SOLID—-SET 35"
3/8"¢ RED HD. 45"
DYNABOLT SLEEVE
CRETE FLEX SS4 6.0”

©2017 TILTECO, INC. 0.030" THICK GALVANIZED BERTHA STEEL L.c.
STORM PANEL (2.25" DEEP) DRAWN BY:
UPPLY 07/26/17
ILIECO .. EASTERN METAL SUPPLY, INC | /%
= 4268 WEST ROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407 17-099
T 4, 4 AY -
5 B SiuSt s VEES 0, ewone: (Ss1333 001, T (50 5ea-e780
EB—-0006719 REV. MO CESCRIPTION DATE | Rev. e DESCRFTION DATE DRAWING No
WALTER A. TILLIT Jr. P.E. ~ .
FLORIDA Lic. # 44167 M. XD 1D | 0E7 ” SHEET 5 OF ¢




MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/27 ==
MAXIMUM
AS.D. DESIGN LT.W. BUILDEX ELCO CONSTRUCTION FRODUCTS POWER FASTENERS ALL PONTS APPUICASLE TO
PRESSURE SECTIONS # & MAXIMUM PANEL
RATING (p.o.f,) |TAPCONS/MAXI—SET TAPCONS RED HD SLEEVE CRETE-FLEX S54 MALE/FEMALE PANELMATE MALE PANELMETE PLUS CALK~IN SOLID-SET ANY CouBNATION | LENGTH - (1)
TO CONCRETE| TO BLOCK | TO CONCRETE| TO BLOCK |TO CONCRETE| T0 BLOCK |TO CONCRETE| TO BLoCk | TO CONCRETE| 10 BLOCK | 7O CONCRETE 70 BLOCK |TO CONCRETE| TO BLOCK OF THEM
127 NAA N/A N/A 12" N/A 12° N/A 12" N/A 127 N/A N/A N/A 1 (TOP)
12* 5" N/A 12* 12" 10" 12" 9" 12" 8" 127 7 12" 12" 1 (BOTTOM)
12" N/A NAA N/A 12" NAA 12" N/A 1z2° N/A 12" N/A 12* 12" 2 (T0P)
12* 5 N/A 127 12~ 10" 127 9" 12" 8" 12" 7" N/A NA 2 (BOTTOM)
12" N/A N/A N/A 127 N/A 12" N/A 12* N/A 12" N/A N/A N/A 3 (T0P)
12" 5" NAA 72" 2" 10" 12" 9" 12" 8" 12° 7" N/A N/A 3 (BOTTOM)
+66.0, —72.0 12" N/A NAA N/A 127 N/A 2" N/A 127 N/A 12" N/A N/A N/A 4 (ToP) >6'-0" TO 7'—6"]
127 5" N/A 12" 12" 10" 127 g" 72" 8" 12" 7 N/A N/A 4 (BOTTOM)
12" N/A N4 NAA 12" N/A 127 NAA 2" N/A 127 N/AA NAA N/A 5 (ToP)
1" N/A N/A 8" 12" 6" 12" 5° 12" 4" 17" 4" N/A N/A 5 (BOTTOM)
127 NAA NAA N/A 12* N/A 12° N/A 12* N/A e N/A N/A N/A & (TOP)
9" N/A N/A N/A 12" N/A 12* N/A 12" N/A 8" N/A N/A N/A 5 (BOTTOM)
8" NAA N/A N/A 11" N/A 12* N/A 10" NAA 7 NAA N/A N/A 7 (TOR/BOTTOM)
N/A NAA N/A N/A N/A N/A Fid g” 12* 6" 127 7r 12*° 12" 8 (TOF/BOTTOM)
MAXIMUM ANCHORS SPACING FOR E 0. = 3 1/2" =
MAXIMUM
AS.D. DESIGN LT.W. BUKLDEX ELCO CONSTRUCTION PRODUCTS POWER FASTENERS ALL FONTS APPLICABLE TO
PRESSURE : SECTIONS £ & MAXIMUM PANEL
RATING (p.s.r,) |TAPCONS/MAXI-SET TAPCONS RED HD SLEEVE CRETE-FLEX SS4 MALE/FEMALE PANELMATE MALE PANELMETE PLUS CALK~IN SOLID-SET ANy coussiaTion | LENGTH 1 (1)
70 CONCRETE| 70 BLOCK | TO CONCRETE| TO BLOCK | TO CONCRETE| TO BLOCK |70 CONCRETE| TD BLOCK |TO CONCRETE| TO BLOCK |70 CONCRETE| 1o BLOCK | TO CONCRETE| TO BLOCK OF THEM
12”7 NAA N/A NAA 12" NAA 12" NAA 12* N/A 12- N/A NAA NAA 1 (TOP)
12 5" N/A 72" 127 11° 12" g 12" &8 12" 8" 12 12= 1 (BOTTOM)
12* N/A N/A N/A 12" N/A 12% N/A i N/A 127 N/A 127 12° 2 (ToP)
12" 57 N/A 127 12" i 12 9" 12" &" 12* 8" N/A N/A 2 (BOTTOM)
12" N/A N/A N/A 12" N/A 12" N/A 12" N/A 127 N/A N/A N/A 3 (TorR)
127 5" N/A 12" 12" 17" 12" 9" 12”7 - 127 8" N/A N/A 3 (BOTTOM)
+60.0, -61.5 127 N/A N/A N/A 127 N/A 12* N/A 12* N/A 12" N/A N/A N/A 4 (TOP) >7'-6" TO 8'-6"
12" i N/A 7 12" 11" 12 9” 12" 8" 127 8F N/A N/A 4 (BOTTOM)
12”7 NA N/A NAA 127 N/A 12" N/AA 12* NAA 127 N/A N/A N/A 5 (ToP)
12" N/A N/A g 12" 6" 12" 5° 12" 4" 12" 4" N/A N/A 5 (BOTTOM)
9" N/A NAA N/A 12* NAA 12” N/A 12" N/A 11" N/A NAA N/A & (ToP)
12" N/A N/A NAA 12" N/A 2" N/A 12" N/A 9" N/A N/A NAA 6 (BOTTOM)
8" N/A N/A N/A 11" N/A 12" N/A 11 N/A 7" NAA N/A N/A 7 (TOP/BOTTOM)
N/A N/A NAA N/ N/A N/A 12* 9" 15" 6" 12" 8" 12* 12* 8 (TOP/BOTTOM)
el e — e —— v—
MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2" **
MAXIMUM POWER
A5.D. .R.mﬁz LT.W. BUILDEX ELCO CONSTRUCTION PRODUCTS FASTENERS ALL PONTS APPLICABLE TO )
PRESSURE o= SECTIONS § & MAXIMUM PANEL
RATING (p.s.f.) TAPCONS,/MAXI~SET TAPCONS RED HD SLEEVE CRETE-FLEX SS4 MALE /FEMALE PANEL MATE MALE PANELMETE PLUS CALK—IN SOLID-SET ANY COMBINATION LENGTH 17 (1t.)
JO CONCRETE| 70 BLOCK | TO CONCRETE| T0 BLOCK |TO CONCRETE| 70 BLOCK | T0 CONCRETE| To Btock |70 CoNCRETE| To B10CK | 70 CONCRETE| 70 BLock | 7o CONCRETE] 70 BLock OF THEM
12" N/A NA N/A 12" N/A 12" N/A 2" N/A 127 N/A N/A N/A 1 (TOP)
12" 4" N/A 12* 12" 8" 12% 8" 127 7" 12° 67 12" 2" 1 (BOTTOM)
125 N/A N/A N/A 12" N/A 12" N/A 12 N/A 12" N/A 12" 12" 2 (ToP)
12" 4" NAA 12" f2* 9" 12° 8" 12* 7* 12° 6" N/A N/A 2 (BOTTOM)
12* N/A N/A N/A 12 N/A 120 N/A 12" NAA 127 N/A N/A N/A 3 (ToP)
127 4 N/A 12 12" 9" 12* 8" 12* 7" 12* 5" N/A N/A 3 (BOTTOM)
+66.0, —72.0 12" N/A N4 N/A 12" N/A 127 NAA 12" N/A 12" N/A N/A N/A 4 (TOP) >7'-6" TO 8'-6"
12" 4 N/A 12* 12" 9 12" 8" 12" 7 12" &” N/A N/A 4 (BOTTOM)
12" N/A N/A N/A 12" N/A 12" NAA 12" N/A 12" N/A N/A N/A 5 (ToP)
9" N/A NAA 7= 12" 5" 12" 4" 12" 3" 9" 3" NAA N/A 5 (BOTTOM)
11* N/A N/A N/A 12" N/A 12° N/A 12" N/A 10" N/A NAA N/A & (TOP)
8" N/A N/A N/A 12" N/A 1” N/A 1" N/A 7 N/A N/A NAA 6 (BOTTOM)
7 N/A NAA N/A 9~ N/A 10" N/A 9* N/A 6 N/A N/A N/A 7 (TOP/BOTTOM)
N/A N/A N/A N/A N/A N/A 12" 8" 12” 6" 12* 5" 12* 12- & (TOP/BOTTOM)

MAXIMUM A.SD. DESIGN PRESSURE RATING (p.s.f.) AND

CORRESPONDING MAXIMUM ANCHOR SPACING SCHEDULE FOR

INSTALLATIONS INTO CONCRETE AND CONCRETE BLOCK STRUCTURES *#

** MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1,/2" EDGE DISTANCE.
FOR E. D. LESS THAN 3 1/2", REDUCE ANCHOR SPACING BY
MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING
FACTORS. (NOTE : Min. E. D. FOR CALK—IN ANCHORS
FOR THIS OPERATION TO BE POSIBLE, REDUCED
USING FACTOR SHALL NOT BE LESS THAN MINIMUM SPACING
INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND.

IS 2 1/27).

SPACING OBTAINED

*SEE NOTES ON SHEET 8 & 9 OF g
FOR ANCHOR TYPES & SPACING FOR

INSTALLATIONS INTO WOOD FRAME BUILDINGS.

FACTOR
ACTUAL E. D. TAPCON/
CRETE—FLEX SS4/| CALK—IN | SOLID-SET |RED HD. SLFFVE
PANEL MATES
3" - .75 .78 1.00
2 127 — .50 - 1.00
Z - = = 0.88
1 1/2” .35 - - _
ANCHORS LEGEND
ANCHOR
ANCHORS MIN.
TYPE SPACING E. D. = EDGE DISTANCE
TAPCON/ LG
PANELMATES ’
CALK—IN 2.5
SOLID—-SET 3.5 it
' %..w._wAwutu..n\..nﬂ,
3/8"¢ RED HD. 45" £l ‘,.,.wrwm,n
DYNABOLT SLEEVE : sf,.u =
i..# .u.,."n M
CRETE FLEX 5S4 6.0 N % 0

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

©2017 TILTECO, INC.

/ TiLlEco me

0.030” THICK GALVANIZED BERTHA STEEL

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th, St, Ste. 305, VIRGINIA GARDENS, Fl. 33166
Phone : (305)871-1530 . Fox : (305)871—1531

EB-0006719
WALTER A. TILLIT Jr. P.E.
FLORIDA Lic. # 44167

4

Le.

STORM PANEL (2.25" DEEP) DRAWN BY:

07,/26/17

EASTERN METAL SUPPLY, INC por.
s 52 o e
WEST PALM BEACH, FL. 33

PHONE: (561)633-6061, FAX: (561)588-4780 17-099

FEV. NO CESCRIPTION aTE REV. Mo DESCRIPTION DATE DRAWING No
L Q0 108 fovm/ir]l s SHEET 6 OF ¢




MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/27 =

MAXIMUM A.S.D. DESIGN PRESSURE RATING (p.s.f.) AND

CORRESPONDING MAXIMUM ANCHOR SPACING SCHEDULE FOR

INSTALIATIONS INTO CONCRETE AND CONCRETE BLOCK STRUCTURES *

¥ MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2” EDGE DISTANCE.

FOR E. D. LESS THAN 3 1/2%, REDUCE ANCHOR SPACING BY
MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING
FACTORS. (NOTE : Min. E. D. FOR CALK—IN ANCHORS IS 2 1/2").
FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING OBTAINED
USING FACTOR SHALL NOT BE LESS THAN MINIMUM SPACING
INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND.

>Mo§ _mm%az LT.W. BULDEX ELCO CONSTRUCTION PRODUCTS POWER FASTEMERS ALL POINTS APPLICABLE TO
?Mﬂ%ﬂwﬂﬂ ) |mecons fusa-ser Tapcons RED D SLEEVE CRETE-FLEX 554 MALE/FEMALE PANELMATE MALE PANELMETE PLUS CALK—IN SOLID-SET %«mnna%&% znaﬂ.._. rﬁ«mﬁtﬂmﬁ@
70 CONCRETE| TO BLOCK |TO CONCRETE| T0 BLOCK |TO CONCRETE| TO BLOCK |TO CONCRETE| T0 BLOCK |TO CONCRETE| TO BLOCK |TO CONCRETE| TO BLOCK |TO CONCRETE| TO BLOCK OF THEM
12* NAA N/A N/A 2 NAA 12" NAA 12" N/A 127 N/4 N/A N/A 1 (TOP)
12° 6~ N/A 12" 127 12* 12" 17" 12" 9" 127 97 72" 127 1 (BOTTOM)
12" NAA N/A N/A 12" NAA 12" NAA 12”7 N/A 12" N/A 12* 12" 2 (T0P)
12" 5" N/A 12* 12" 12" 12" 11" 12" g9” 127 9" N/A NA 2 (BOTTOM)
12" N/A N/A N/A 12° N/A 12" N/A 127 N/A 12* N/ N/A N/A 3 (Tor)
i 6" N/A 12* 12" 12" 12° 11° 12" 9” 12" 9" N/A N/A 3 (BOTTOM)
+66.0, —76.0 12" N/A N/A N/A 12" N/A 12" N4 12" N/A 12° N/A N/A N/A 4 (T0P) 6'-0" OR LESS
12” 6" NAA 12* 12° 12" 12" 1" 12" 9" 12° 9" N/A N/A 4 (BOTTOM)
12" N/A N/A N/A 127 N/A 12 NAA 12" N/A 12" N/A N/A NAA 5 (TOP)
12" 4" N/A 12* 127 8" 2" zZ* 127 6" 12" 6" N/A N/A 5 (BOTTOM)
127 N/A N/A N/A 127 N/A 12* NAA 12" N/A 12" N/A N/A N/A & (TOP)
11" N/A N/A N/A 127 N/A 12° N/A 12" N/A 10" NAA NAA N/A & (BOTTOM)
9° N/AA N/A N/A 127 N/A 12° NAA 12" N/A g° N/A N/A NAA 7 (TOP/BOTTOM)
N/A N/A N/A N/A NAA N/A 12* 11" 12" 5" 12" 9" 12” 12" 8 (TOP/BOTTOM)
MAXIMUM ANCHORS SPACING FOR £ D. = 3 1/2° #*
x.w”m‘.xm,mwww.z L.TW. BULDEX £LCO Sﬁﬁﬁﬁg\g _ POWER FASTENERS ALL POINTS m.mmﬁﬁ H .
RATING (p.5.£.) TAPCONS/MAXI-SET TAPCONS RED HD SLEEVE CRETE-FLEX 5S4 MALE /FEMALE PANELMATE MALE PANELMETE FLUS CALK—IN SOLID-SET ANY COMBINATION LENGTH L™ (1t.)
0 concrere| 10 Brock | 10 conereTe| 70 Siock | To cowcreTe| To Brock | ro concrete| 10 Brock | ro concrere| To Block | To concreTe| To BLock | To concrere| 1o sLock OF THEM
12" N/A N/A NAA 12" N/A 127 NAA 12" NAA 12" N/A N/A N/A 1 (ToR)
12" 4" N/A 127 12" 10" 127 8" 12" 7 1/27 12" 7" 12" 12" 1 (BOTTOM)
127 N/A N/A N/A 127 N/A 12° N/A 12" N/A 12" N/A 12" 12" 2 (TOP)
12* 5T N/A 12" 12" 10 127 8" i2" 7 12" 12" i N/A N/A 2 (BOTTOM)
12" N/A N4 NAA 12" NAA 12* N/A 127 NAA 12" N/A N/A NAA 3 (Tor)
12" 4 N/A 127 12" 10" 12" 5" 12" 7 12 12" 7 N/A N/A 3 (BOTTOM)
+66.0, —76.0 127 N/A N/A N/A 12" N/A 12° N/A 127 N/A 12 N/A N/A NAA 4 (TOP) >6'-0" TO 7'-6"
z" " N/A 127 12" 10 12° 8" 12" 7 1/2" 12" 7" N/A N/A 4 (BOTTOM)
12" N/A N/A N/A 127 N/A 2% N/A 12" N/A 12 N/A N/A N/A 5 (ToP)
10 1/2" N/A N/A 7 12T 12* 5 12* 4" 12* 4" 10 172" 4" N/A N/A 5 (BOTTOM)
112" N/A N/A N/A 12" N/A 12* N/A 12" N/A 10 1/2" N/A N/A N/A & (TOP)
g” N/A N/A N/A 12" N/A 12* NAA 11 172" N/A 8" N/A N/A N/A 6 (BOTTOM)
7 12" N/A N/A N/A 10 1/2" N/A 11 1/2° N/A 10" N/A 7 N/A N/A N/A 7 (TOP/BOTTOM)
N/A N/A N/A N/A N/A N/A 12° - 12" 6" 12" 7" 12" 12~ 8 (TOP/BOTTOM)
MAXIMUM ANCHORS SPACING FOR E D. = 3 1/27 »*
\.m.u...qﬁﬁc LT.W. BULDEX ELCO CONSTRUCTION FRODUCTS POWER FASTENERS ALL POINTS APPLICABLE TO
§ﬂmﬂm«mmw 1) |PPcoNsmaxi-seT TaPcoNS RED HD SLEEVE CRETE-FLEX S$4 MALE/FEMALE PANELMATE MALE PANELMETE PLUS CALK—IN SOLID-SET %nu%tzm.haﬂ: ﬁmﬁ: .p..wx.www
70 concreTE| 10 BLock | 10 conereTE| o BLock | To cowcreTE| To BLock |0 concreTE| T0 BLock | o cowncrerE| To Block | TO CONCRETE| 70 BLOCK | TO CONCRETE| To BLOCK OF THEM
127 N/A N/A N/A 12" N/A 127 N/A 12" NAA 127 N/A NAA N/A 1 (Tor)
12* 4" N/A 127 12" 9” 127 7" 12" 6" 12" 5" 12" 127 1 (BOTTOM)
127 N/A NAA N/A 127 N/A 127 N/A 12" N/A 12 N/A 12" 12" 2 (ToP)
727 4" NAA 12* 127 9" 127 77 127 6" 12° 6" N/A N/A 2 (BOTTOM)
12* N/A N/A N/A 127 N/A 12”7 N/A 127 N/A 127 N/A NAA N/A 3 (ToP)
10" 4" N/A 12* 12" 9" 12" ra 12" 6" 127 6" N/A NA 3 (BOTTOM)
+66.0, —70.0 12" N/A N/A N/A 12~ N/A 12* NAA 12" NAA 127 N/A N/A N/A 4 (ToP) >7-6" TO 8'-6"
12”7 4" N/A 12~ jo~ N/A 12* i 12* & 12" 5" N/A N/A 4 (BOTTOM)
127 N/A N/A N/A 127 N/A 12" N/A 12* N/A 127 N/A NAA N/A 5 (ToP)
8" N/A N/A 6" 12" N/A 11" N/A 11" 7= 8" 3" N/A N/A 5 (BOTTOM)
10 N/A NAA NAA 127 NAA 12" NAA 12" N/A g N/A N/A N/A & (TOP)
8" N/A N/A N/A 127 N/A 10" N/A 107 N/A 7" N/A N/A N/A & (BOTICM)
7" N/A N/A N/A g N/A 16" N/A 9" N/A 6" N/A NAA N/A 7 (TOR/BOTTOM)
N/A N/A N/A N/A N/A N/A 12" 7" 12" 6" 12" 6" 72* 1207 8 (TOP/BOTTOM)

FACTOR
ACTUAL E. D. TAPCON/
CRETE—FLEX SS4/| CALK—IN SOLID-SET |RED HD. SLEEVE
PANEL MATES
™ = D /8 1.00
2 172" - .50 - 7.00
z 5 - = 0.88
1 1/2" .35 - - _
ANCHORS [EGEND
ANCHOR
ANCHORS MIN.
TYPE SPACING E. D. = EDGE DISTANCE
TAPCON/ 40"
PANELMATES '
CALK—IN 25"
SOLID-SET 3.5”
3/8"@ RED HD. &5
DYNABOLT SLEEVE
CRETE FLEX 554 6.0"

*SEE NOTES ON SHEET 8 & 9 OF @
FOR ANCHOR TYPES & SPACING FOR

INSTALLATIONS INTO WOOD FRAME BUILDINGS.

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

0.030" THICK GALVANIZED BERTHA STEEL

FLORIDA Lic. # 44167 L

4

©2017 TILTECO, INC. Lec.
STORM PANEL (2.25" DEEP) DRAWN BY:
liLleco ... EASTERN METAL SUPPLY, INC | %"
. 4268 WEST ROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407 17-099
6355 N.W. 36th, Si, Sle. 305, VIRGINAA GARDENS, Fl. 33166 o - e =
Phone : Do&mxmaua . Fox : (305)871-1531 PHONE: (561)533-6061, FAX: (561)588-4780
_EB-0006719 FEV. NO DESCRIPTION DATE | Rev. Mo DESCRIFTION DATE DRAWING No
WALTER A. TILLIT Jr. P.E. T i o B

SHEET 7 OF 2




1/4" 8 LAG SCREW

EXISTING WOOD HEADER.

@ 670 C W/ 1 172" MIN.
THREADED PENETRATION TO

1" x 27 x 125" (MIN.) ALUM.
TUBE W/ 1/4" ¢ LAG SCREW
@ 6" 0. C W/ 1 1/2” MIN.
THREADED PENETRATION TO
EXISTING WOOD HEADER.

-

250"
Max.

REQUIRED

[(SEE SCHEDULE)

I For Min.
| separaTION TO
_mx\muzm GLASS

I
L A

|
| woop Heaper|
|

ﬁ
_
|
¥
_
_
_
ﬁ
g
_
|

—{ H ) Cont.

X

—®

¥
ALTERNATIVE 1

A

r
SEE SCHEDULE)

FOR Min.
SEPARATION TO
| exstive GLass

£Q EQ,

Max. PANEL LENGTH (SEE NOTES BELOW)

—®

7/8" ¢ x 3/32"
WING NUT ©
EVERY STUD ©
12”70 ¢

—

T f \ o
27 x 47 PLATE
REQUIRED

ALTERNATIVE 2

/@ Cont.

1/4" ¢ [AG SCREW
@ 67 0. C W/ 1 1/2" MIN.
THREADED PENETRATION TO
EXISTING WOOD HEADER.

NOTE FOR COMBINATION OF SECTIONS:

WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION.

.500"

S

.250"
Max.

|
[

1.000" Min.

P

WOOD HEAD,
REQUIRED

m

R

(SEE SCHEDULE)

FOR Min. SEPARATION
TO EXISTING GLASS

A

_
|
|
_
_
|
*
_
_

.IIAH ) Cont.

ALTERNATIVE 3

A
4

| (SEE SCHEDULE)

_ FOR Min.

EXISTING GLASS |

ﬁ
|
_
SEPARATION TO _
_
7
_

JE._l.

—®

Max. PANEL LENGTH (SEE NOTES BELOW)

1/4" 8 LAG SCREW
@ 6"
THREADED PENETRATION TO
EXISTING WOOD HEADER.

0. C W/ 1 1/2" MIN.

.250"
ax.

WOOD HEADER
REQUIRED

(SEE SCHEDULE)

1

6

\Y Cont.

!

FOR Min. SEPARATION
TO EXISTING GLASS

A

2" x 47 PLATE
REQUIRED

h
T

ALTERNATIVE 4

INSTALLATION DETAILS ON EXISTING

/q\ﬁ 6-20 x
/4" BOLTS W/
N, 78" x 3/32"

ont WiNG NUT @

12" 0. C.

1/4" ¢ LAG SCREW
@ 6" 0. C W/ 1 1/27 MIN.
THREADED PENETRATION TO

EXISTING WOOD HEADER.

il

WALL MOUNTING INSTALLATIONS
SECTIONS A

SCALE : 1/4"

Max. PANEL LENGTH (SEE NOTES BELOW)

1/4” 6-20 x

Cont. 3/4" BOLTS W,

7/8" x 3/32

WING NUT @

127 0. C.
1/4" ¢ LAG SCREW

: @ &”
THREADED PENETRATION TO

0. C. W/ 1 1/2” MIN.

XISTING WOOD HEADER.

ALTERNATIVE 6

WoopD sTuD
@ 24" 0. C.

REQUIRED

WOOD BUILDINGS

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR MAX. A.S.D. DESIGN PRESSURE RATING

AND MAX. PANEL LENGTHS AS PER SCHEDULE ON SHEET 4 OF 9

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

(SEE SCHEDULE)

TO EXISTING GLASS

FOR Min. SEPARATION

WoopD sTuD
@ 24" 0. C.
REQUIRED

”

[e]

BOLTS

.50

Cont.

BRO

7/8" 8 x 3/32"
WING NUT ©
EVERY STUD @
—12" 0. C

/4" 6-20 5. S.

@ 127 0. C.

W/ NUT & WASHER

1/4" @ LAG SCREW

@ 6”0 C W 1 1/2" MIN.
THREADED PENETRATION TO
EXISTING WOOD HEADER.

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

©2017 TILTECO, INC. 0.030" THICK GALVANIZED BERTHA STEEL L
STORM PANEL (2.25" DEEP) DRAWN 8Y:
liLtlEco EASTERN METAL SUPPLY, INC | 7%~
INC. :
4268 WEST ROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407
e lar 1550, TP CARDENS, P 168 PHONE: (561)533-6061, FAX: (561)588-4780 17-099
EB—-0006719 REV. NO DESCRIPTION DATE REV. Mo DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr. P.E.
FLORIDA Lic. # #4167 ! X0 1500 | Oy27 2 SHEET 8 OF 9




1/4" ¢ LAG SCREW @

6" 0. C. W/ 1 1/2" Min. THREADED

7/8" x 3/32"
1/4" §-20 ELCO male/female \\3\\20 NT @

b PENETRATION TO EXISTING WOOD HEADER: h- PANELMATE OR Male PANELMATE PLUS K 127 0. C WOOD TRUSSES OR RAFTER
AR ] \ >~ € 12° O.c. W/ 1 7/8" Min. THREADED™ ¥ [~ ® 24" 0. C. REQUIRED
e el |\ - RA . " .
P ! Cont. B [l FENETRATION. 7/8" 8 x 3/32 :
> |l WING NUT @ N
P 1/4" #-20 S, S. BOLTS @ - - I P
i A2 0 W LT & TESHER Sy soee Y (seE scHEDULE) 25
" Min., _ FOR Min. i g
NE | | SEPARATION TO 2
] N= W I EXISTING GLASS EEN
y fh | | g8
\ : == Y | I 2" x 67
5 —y £ i L”.I 3w WOOD DECK . .
/ ® | @ ! 30 REQUIRED 1" x 4" x 1/8" (Min.)
| ! @ ¢ ; (NO_FINISH ol R
— | » Cont. ALLOWED) . S Y r ” P
_ =il _ z ! Gant. £ : ,ﬁ ~ —/ ! .amoo *- Sl e RATER GR TRUSS. LOCATE
Y L= W e ; | - I /48 x 3/4°/ 8 2 SCREWS AT MIDWIDTH OF
| WOOD HEADER | i | WOOD HEADER W = - | W BUILDEX = 1—® ExTING ﬁhﬂaﬁww@
| REQURED ] = v 8 ; REQUIRED I S | ¥ . B ] memwmmﬁ ,m % Cont. W/ 2 1/2* Min. THREADED
] | o I(SEE SCHEDULE) ! a Py L e[, T ] : - | FPENETRATION.
1 | = i ‘& = —] i
H (SEE SCHEDULE) I < i _FOR Min. ] i ] - (SEE SCHEDULE,
G 1SEPARATION TO = 1 . ) 1 )
|70 exsiNG GLess 3 IEXISTING GLASS “ 2 b FOR Min. !
i “ = i | i W/ 1 1/2 Min. wﬂma@aﬁb i SEPARATION TO 1
_ g i _ t PENETRATION @ 4" 0.C. I EXISTING GLASS !
! i g ! | e i A
I
! | | r ¥
i _ 3 ! A ! m
1A TR (ST 1 ! =
\ A —A g ALTERNATIVE 1 ALTERNATIVE 3
ALTERNATIVE 8 ALTERNATIVE 10 L (ox. DESIGN 1040~ 610 psf
g Mox. PANEL LOAD= 8—0")
<<
A A . WOOD TRUSSES OR RAFTER i %
i (SEE SCHEDULE) P z —A —A— Mm © 247 0. C. REQUIRED \—
f FOR Min. SEPARATION ! o I(SEE_SCHEDULE)| _ \ m _
! TO EXISTING GLASS ! @ e | "
i I i FOR Min. | I
i I &2 ISEPARATION TO | (SEE SCHEDULE) |
i I S IEXISTING GLASS | I FOR Wi _
w “ S) H | SEPARATION TO |
| N B : _
! ALTERNATE | —(D @ P ca— S M EXSTING (6LASS! | | {2 x 6"
," | L S 500" — E-EQ——E0—F Fso0m —— i _ " M\%%ﬁwmmmnx
£ | | ] | I
i | £ o | i B _l— || (NO FINISH
' _ 5 8 “ @or(®)—0 ! khgzm&
b | 3 e Cont. 1
) “ o -M— @ MIDWIDTH OF PLATE 1/470 x u\ﬁ._ | H 1" x 47 x 1/8" (Min.) /
} I £ . ITW BUILDEX G535 Aur. TUEE
| Q L N—1/4" 8-20 ELCO male/female TEK SCREWS Wy (2 e
i . woos )\ \ : PANELMATE %\ Male \.ﬂzﬂtﬁm PLUS @ 6" oc g R — —1_ V
_ 3 \ [ ] @ 12" 0.C. W/ 1 7/8" Min. THREADED - = iy
3 REQUIRED b A F ! SCREWS AT MIDWIDTH OF . [ Tyt
. - 8 A ) PENETRATION. Cont. | i EXISTING WOOD MEMBER, v
—l— 17 920 5 371 (see soneouis) |\ o o,/ lelel e e
3 = BOLTS W/ 7/8 i " FOR Min. i i PENETRATION. - BOLTS W/ 7/8" x
N = 3/32" WING U - i 1/4" 8 LAG SCREW 3/32" WING NUT
- \ - . 3/327 |- | SEPARATION 70 | I : .
| e @ 127 0. C. \ EXISTING GLASS | | W/ 1 1/2 Min. THREADED @ 12" 0. C.
UL “ I I —1/47 9-20 x u\a PENETRATION @ 4" O.C.
OINE 1/4" 9-20 S. S. I 1 Al ! BOLTS W/ 7/8
B2 A : e ALTERNATIVE 4
12" 0. C. W, . C.
NUT & WASHER.
A / ALTERNATIVE 2
woop stuol 11} : 1/47 @ LAG SCREW @ ALTERNATIVE 11 (Mox. DESIGN LOAD= # 61.0 psf
@ 24" 0. C. || 6" 0. C. W/ 1 1/2° Min. THREADED | £ Max. PANEL LOAD= 8'-0")
.“N.NIDQ._._Q.W_D ._.u.pll_)..m..mhﬁbz 70 m\,QWH__.?.Q S\DDD HEADER. nml\h\zq % ﬁh Oom iocz ﬂ\zn \ZMﬂL hi Nl\ozm
N | MMQN-\QZM m SCALE : 1/4” = 1~
é i|: NOTE FOR COMBINATION OF SECTIONS:
\ i

FLOOR/ WALL/ CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT L%m&ﬁsﬁﬁz

el

WALL MOUNTING INSTALLATIONS

ALTERNATIVE 9 SECTIONS A P 7
SCALE : 1/4" = 17 ﬂMNZ e =
\Z.M-N-L\li N.\QZ Dhﬂh\rm ﬁn\ﬁﬁmﬂ\% %QQD mc\\lo\zmﬂw FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
n. wqu .. ©2017 TILTECO, INC. QOMQ: w.l__nu_hﬂ Q.LF.F\LZ\N.MD mm_ﬂﬁll .m.ﬂmh‘l__l L.C.
NOTES: m w* STORM PANEL (2.25" DEEP) DRAWN BY:
1. INSTALLATIONS ARE ONLY VALID FOR MAX. A.S.D. DESIGN PRESSURE RATING - .. : 07/26/17
AND MAX. PANEL LENGTHS AS PER SCHEDULE ON SHEET 4 OF 9, EXCEPT 205 : |— =| —m 0 o N EASTERN METAL SUPPLY, INC s
THAT FOR ALTERNATIVES 2 AND 3 A Max. PANEL LENGTH OF 8'-0" AND A ,W. 3 Cu :
Max. DESIGN LOAD OF + 61.0 PSF SHALL BE USED. w...g TILLIT TESTING & ENGINEERING COMPANY zmmmmw?sﬁmmmm%m.c mn_..omwwmmoq
-— 6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, Fl. 33166 PHONE: ﬁwmaumuulmomm FAX: Amm._vmmml#ﬂmo HN|D.@.®
2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN :,J-.v% Phone : (305)871-1530 . Fox : (305)871-1531 + . =
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. \Wmf\% N Ri¥._NO e I A DESCRITION AT DRAWNG. No
“vesgisrst’ FLORIDA Lic. # 44167 - 80N \ORITL SHEET 9 OF 9




